
KOQ Ur\NTRSITY

MATH 702

FII\AL EXAM January 2, 2018

Duration of Exam: 90 minutes

INSTRUCTIONS:

o No calculators may tre used on the test.

o No books, no notes, no questions, and no talking allowed.

r You must always explain your answers and SHOW YOUR \A/ORK
to receive full credit.

o Print (use CAPITAL LETTERS) and sign your name. GOOD LUCK!

SURNAME, Name:

Student ID no: --KEY

Signature:

(Selda Ktiqiikqifqi l\4W 8:30-9:45) : . ---

(check one), lselda 
Kiiqiikqifqi I\{w 11:30-12:4s) : -.---

(Hasan Inci \dW 16:00-17:15) : -----
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Problem 1 (10 points) (a) Determine lirn lar - 1l* lar+ 11
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Problem 2 (12 points) Find the absolute maxirnurn and absolute rninimurn values of

f (*): re*/2 on [-1,1].
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(16 points) Determine the area of the reglon borrnded by cos fr, .U : sinz, r; : 0 auri
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Problem 4 Evaluate the foilowing integrals.
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(HINT: sin(2r) : 2 sin:r cos z)
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(b) (12 points)

iidi
iL \ )

{

l1i
J,/r",

; i 'L i,t ri i

t ';
i '-"1 -t ,

{



(c) (16 points) | arnbrr, *
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Problem 5 (15 points) Deterrnine wtrether the foilowing integral is convergent or divergerrt. Evaluatc
it if it is convergent.
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